THTLE: 22430 1 22440

NOTE :
ALL DIMS. +/- Tmm UNLESS NOTED INTELLITOUCH / SECURE TOUCH MODELS ONLY
5117 42 .6
(Max. 44 . 6mm)
1 | T o a4 =S o -
476 .64 I o .
(ACTIVE AREA) H%ﬂm
268 .1 298 . | [:] [:]
(ACTIVE AREA)
o o
o= oo 1
. : ° =)~ —. u=a§?;.a (o) %i
12V DC
POWER INPUT o VBEST //rgggEgﬁUgiTPUT
RJ-45 0SD DVI-D VIDEO
CONNECTOR INPUT
®
|
mEww  J D smeEcr O
PIRAE) O
OPTTONAL OSD REMOTE P/N B483/751
(ORDERED SEPARATELY)
MS60 |37

DIMENSIONS ARE N MILLIMETERS SHEET | OF 9 DMEE&M%/S




THTLE: 22430 1 22440

INTELLITOUCH / SECURE TOUCH MODELS ONLY

M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE. X4

- Tl Ty - O

© ©
C EE&F!!!WHHE_JN
-
\
-
— |00 —
VESA MOUNT SIDe MOUNT, VERTICAL (LEFT & RIGHT)

M4 THREAD, MAX. SCREW DEPTH 8mm,

X8
{5} Y c— O o {5}
|
20?2 — 23
S1De MOUNT, HORIZONTAL (10P & BOTTOM)
MS60 137
DIMENS TONS ARE IN MILLIMETERS SHEET 2 OF 9 DAW@&§@6/6




THTLE: 22430 1 22440

INTELLITOUCH / SECURE TOUCH MODELS ONLY

MOUNTING WITH ADJUSTABLE BRACKETS

SERE N -

(4 PROVIDED)
. 535.7
R1.8
i ++ x4/7
-y o -y
T i
(0]
479,72
226 ° °
2101 @5 THRU HOLES, "ﬂ
(2 Bl
N _ ~ _ - - + _ _ . - - - 32211
20?2
M4 THREAD,
X7 (3
o o
L EQBJW_"IJUJ w_Ju
:I: . =
} )
(0]
- ++ = ~
L 207 J
M4 THREAD,
X?
226 —
@5 THRU HOLES,
X?

RECOMMENDED CUSTOMER

PANEL CUT-OUT

DIMENS TONS ARE

I[N MILLIMETERS

n,_@'t

MOUNTING BRACKET ADJUSTMENT RANGE
— -1 10 + 18.5 (X4 PLACES)

MS60 137

SHEET 3 OF 9 DATE: 03/06/15

REV: J




039.56

THTLE: 22430 1 22440
INTELLITOUCH / SECURE TOUCH MODELS ONLY

47
(Max. 49 mm) OPTITONAL rRONT MOUNT Bt/ltl KIT P/N £668194
. S : (ORDERED SEPARATELY, CUSTOMER ASSEMBLED)
326. |

—

=

. tlu ) |
FRONT MOUNT Bt/tlL R84
=
—
537.6
—_— B
R5, X4
525.2
S e FRONT MOUNT BRACKETS X4
| (INCLUDED WITH FRONT MOUNT KIT)
. . BRACKETS ACCOMODATE MAX PANEL THICKNESS OF | 4MM
170 CUSTOMER PANEL
170 J
—_—

RECOMMENDED CUSTOMER

PANEL CUT-OUT

DIMENS TONS ARE IN MILLIMETERS

MOUNTING HOLES, X8

| IF CUSTOMER PANEL IS WOOD,
@4 5MM THRU HOLES FOR M4  SCREWS
OR NO THRU HOLES, SCREWS FOR WOOD @ 4MM

2. I f CUSTOMER PANEL [S SHEET METAL,
CONCEALED HEAD THREADED STUDS M4 WITH NUTS

FRONT MOUNT ASSEMBLY

224X SERTES MONITTOR

MS60 137

SHEET 4 OF 9 DATE: 03/06/15

REV: J




THTLE: 22430 1 22440

INTELLITOUCH MODELS ONLY
OPTTONAL RACK MOUNT KIT P/N £4676/7

ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

482 .6
(19")
165 |
(18.3") — 373
(] 47") o (o
o) O {}
© P
w\
C Go_ g
o~
o
0
o) o)
e e {}
o Q
. | T®
o
5334
(21.0") © @
o ~
0
o) o)
@) O © o
0
" ) \fﬁ\
0
¢ J g o
®) B e
el V

NOTE :

|
i
3.

MONTTOR 1S ORIENTED [N PORTRATT MODE
REQUIRES [2U OF RACK SPACE
MOUNTING HOLES SPACING PER ETA-310-D

DIMENS TONS ARE

I[N MILLIMETERS

| INSTALL BOTTOM BRACKET FIRST USING 2xM4 SCREWS CINCLUDED)
2. INSTALL SIDE BRACKETS USING M4 AND M6 SCREWS (INCLUDED)

—M4 SCREW

M6 SCREW

MS60 137

SHEET 5 OF 9

DATE: 03/06/15

REV: J




o 16

(EDGE OF GLASS)

THTLE:

A3 ) 2244l

PROJECTED CAPACITIVE MODELS ONLY

.

2.3
(FOAM SEAL
ALL AROUND)

477.64

(ACTIVE AREA)

269. 11
(ACTIVE AREA)

\

311
(EDGE OF GLASS)

— 138.9

[

S &0 oLEBo

- 204
M4 THREADS,

0126

X4

DIMENS TONS ARE

I[N MILLIMETERS

-— 38.5
(Max. 40.5mm)

307.6

204
M4 THREADS, X4

e 100 — M4 THREAD,
SCREW DEPTH 7mm FROM

MAX .

MOUNT ING SURFACE. X4

VESA MOUNT

SHEE T © OF 9

MS60 |

37

DATE: 03/

06/195

REV:

J




>SN oo ny — —

220 200

TITLE: 22431 / 2244L
PROJECTED CAPACITIVE MODELS ONLY
64 6 RECOMMENDED CUSTOMER PANEL CUT-OQUT
5426 45— R 542 .6
220 220
} . ADJUSTMENT RANGE -
I U I R p— 500
0 )
o0 ! oo
.
O | R9.5to_2//%
(o] (o]
o 519402 | ;
|
_] . 31440 2
337.6
359 6 - - - _ _ _ _ _
|
|
o :
|
\ Y
o0 | q\c\

200 220 337.6

CLEARANCE HOLE FOR M4 SCREW, x3

M4 THREADED HOLE, x8

£

NSTALLATION NOTES:
ATTACH BRACKET

WITH CUSTOMER PANEL.
PLACE TOUCHMONITOR

TAKING CARE NOT TO DAMAGE FOAM SEAL
SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND
WITH M4 HEX HEAD SCREWS

ATTACH BRACKET "B" TO BRACKET "C"
ADJUST DEPTH OF BRACKET "B" SO MONITOR

ki

E.

BRACKET "C"

DIMENS TONS ARE

ATTACH BRACKET "A" TO TOUCHMONITOR WITH M4 LOW PROFILE SCREWS C(INCLUDED) <EE§6§%XBLE)
"C" TO CUSTOMER PANEL PER DRAWING
WITH M4 HEX HEAD SCREWS CINCLUDED)
S FLUSH
INTO CUSTOMER PANEL OPENING Fi
CINCLUDED) FOAM SEAL
TOUCHSCREEN SURFACE —CUSTOMER PANEL
CAUTION: WHEN ASSEMBLED, TOUCHSCREEN SURFACE
MUST NOT PROTRUDE BEYOND CUSTOMER PANEL SURFACE
ANYWHERE AROUND BORDER OF SCREEN
a—— :
==\ o>
\\%/
\§
%i CUSTOMER PANEL
..\\\\“\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘/ | /
SECTION [~ I—A
I[N MILLIMETERS SCALE  5.000

N

\\MOUNTNG HOLE, x8

|

[F CUSTOMER PANEL

M4 THREAD

S METAL,

CLEARANCE HOLE FOR M4 THREADS

ON BRACKET, X8

TOUCHMONT TOR

3

> &l/

FOAM SEAL

BRACKET "A"

SHeEel [ OF 9

MS60 137

DATE: 03/06/15

REV: J

BLIND HOLE,




THTLeE: TITLE: 22430 1 272440

ITOUCH /7 NO TOUCH(ZB) MODELS ONLY

100 244

ol 4|
244
= [ 00 ———=
|
] B
) —— () ®
- J
: ®
o)
o Lo
. ~ l - , ~ - ~ S P (V
| )
© |
|
-
\ =d ")
@ 5
B -]
¢
M4 THREAD, M4 THREAD,
MAX . SCREW DEPTH 6mm FROM MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE X8 MOUNTING SURFACE. X4
203.8

I

Yyama
(EDGE OF GLASS)
7 A\ %
39.0
L
193.8
313,74 317,30 4mm
(EDGE OF GLASS) (CUT-0OUT DIMS. FOR
CUSTOMER PANEL)
°fl v
\& zl
R9.8+0. 3mm
(CUT-0OUT DIMS. FOR
525,940 4mm
(CUT-OUT DIMS. FOR CUSTOMER PANEL)9.8
CUSTOMER PANEL)
[
40 .4
(MAX. 42 4mm)

DIMENS TONS ARE

I[N MILLIMETERS

i

RJ-45 OSD
CONNECTOR

2V DC

POWER

TOUCH USB

VGA
[N

e

MS60 1132

SHEET &8 OF 9 DATE: 03/06/15

REV:

J




TITLe: TITLe: 22430 /7 22441
@\EED ) TOUCH / NO TOUCH(ZB) MODELS ONLY
NSTALLATION NOTES:
. ATTACH BRACKET "A" TO CUSTOMER PANEL "C" PER DRAWING
. ATTACH BRACKET "B" TO BRACKET "A" WITH M4 HEX HEAD SCREWS "B-1I"

|
|
e
(INCLUDED)
3. PLACE TOUCH MONITTOR [INTO CUSTOMER PANEL OPENING TAKING CARE NOT TO

DAMAGE FOAM SEAL

\ :‘;f | == = ' \\//@ 4. ADJUST DEPTH OF BRACKETS "B" SO MONITOR IS SLIGHTLY PROUD OF CUSTOMER
, | PANEL (~1Imm)

5. SECURE TOUCHMONITOR TO BRACKET "B" + "A" FROM BEHIND WITH

M4 HEX HEAD SCREWS "C-1" CINCLUDED)

SECTION V-V
SCALE 2.000

TOUCH SCREEN/ FOAM SEAL\&
CUSTOMER PANEL CUT-OUT 55
CUSTOMER PANEL:
MIN THICKNESS = 3mm
MAX THICKNESS = &.5mm -
/\ / [ o
* *
e N (0] U
(]
< <
* 393.9
Vv
e o
K : : -
/
—
MOUNT ING HOLES, X8
'F CUSTOMER PANEL S METAL,
BLIND HOLE, M4 THREADS
glo
MSEO T 32
DIMENSTONS ARE [N MILLIMETERS SHEE T 9 OF 9 DATE: 03/06/15
REV: J




	Sheet 1
	Views
	new_view_16
	right_17
	right_18
	bottom_20
	new_view_28
	new_view_70


	Sheet 2
	Views
	new_view_22
	right_23
	bottom_27


	Sheet 3
	Views
	new_view_32
	bottom_34
	new_view_35


	Sheet 4
	Views
	new_view_41
	new_view_42
	new_view_54
	right_55


	Sheet 5
	Views
	new_view_45
	new_view_51


	Sheet 6
	Views
	new_view_57
	right_58
	right_59
	bottom_60


	Sheet 7
	Views
	new_view_62
	new_view_64
	right_65
	bottom_66
	new_view_68
	bottom_69


	Sheet 8
	Views
	new_view_16
	right_17
	right_18
	bottom_27


	Sheet 9
	Views
	new_view_26
	new_view_20
	new_view_21
	new_view_22
	new_view_24
	new_view_23
	new_view_25



